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PERIODIC TABLE

Periodic Table I Mandatory Exercise Exercise Set I

1. Mendeleev arranged the elements in the

increasing order of

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_8IvCnLLB8n1H


Periodic Table I Mandatory Exercise Exercise Set Ii

A. atomic number

B. atomic radius

C. atomic mass

D. valency

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_8IvCnLLB8n1H


1. Given that the atomic number of X, Y, and Z

are 9, 11, and 15, respectively, which of them is

an alkali metal?

View Text Solution

2. The number of vertical columns in the

periodic table which form the d block is

A. 8

B. 10

https://dl.doubtnut.com/l/_SpxHx34Dbbk6
https://dl.doubtnut.com/l/_uPk8XxpQIj4w


C. 12

D. 6

Answer: B

View Text Solution

3. In which group of the periodic table will an

element with two electrons in p orbitals be

found?

A. Thirteenth

https://dl.doubtnut.com/l/_uPk8XxpQIj4w
https://dl.doubtnut.com/l/_UdbQ1NZj0ugu


B. Twelfth

C. Fourteenth

D. Fifteenth

Answer: C

View Text Solution

4. The element with the outer electronic

configuration  is a

A. s-block element

3d54s1

https://dl.doubtnut.com/l/_UdbQ1NZj0ugu
https://dl.doubtnut.com/l/_tVMmcOTtiPLF


Periodic Table I Consolidated Exercise Multiple

Choice Questions With More Than One Correct

Answer

B. transition element

C. lanthanide element

D. actinide element

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_tVMmcOTtiPLF


1. The electronic configurations of some

elements are given below. Which of these

belong to s block of the periodic table?

A. 

B. 

C. 

D. 

Answer: A::C::D

View Text Solution

1s22s22p63s23p64s1

1s22s22p6

1s22s22p63s2

1s22s22p63s23p63d104s2

https://dl.doubtnut.com/l/_obj21ajg61zJ


2. Which of the following statements are

correct?

A. Group 18 elements are known as noble

gases.

B. All the elements belonging to s block are

metals.

C. All the elements belonging to d block

are metals.

D. Halogens are strong oxidising agents.

https://dl.doubtnut.com/l/_YXQLUxviftV0


Answer: A::B::C::D

View Text Solution

3. Select the correct statements:

A. Ce, Pr, and Nd are f block elements.

B. Cu, Pd, and Ni are d block elements.

C.  and  have

been placed in s block.

D. Si, Ge, and As are metalloids.

Cu([Ar]3d104s1) K([Ar]4s1)

https://dl.doubtnut.com/l/_YXQLUxviftV0
https://dl.doubtnut.com/l/_D3EMz1X65wSQ


Periodic Table I Challenging Exercise

Answer: A::B::D

View Text Solution

1. A neutral atom has 2 K, 8 L, 8 M, and 2 N

electrons. Find the following from this data: 

Total number of p electrons

View Text Solution

https://dl.doubtnut.com/l/_D3EMz1X65wSQ
https://dl.doubtnut.com/l/_AsRPgXMavwU1
https://dl.doubtnut.com/l/_hUjlgafOd7b7


2. A neutral atom has 2 K, 8 L, 8 M, and 2 N

electrons. Find the following from this data: 

Total number of s electrons

View Text Solution

3. A neutral atom has 2 K, 8 L, 8 M, and 2 N

electrons. Find the following from this data: 

Valency of the element

View Text Solution

https://dl.doubtnut.com/l/_hUjlgafOd7b7
https://dl.doubtnut.com/l/_4kJ7YAWMNuP2


4. A neutral atom has 2 K, 8 L, 8 M, and 2 N

electrons. Find the following from this data: 

Total number of protons in the nucleus

View Text Solution

5. The atomic number of an element is 25. 

Write its electronic configuration.

View Text Solution

https://dl.doubtnut.com/l/_zOLykWBRBu1i
https://dl.doubtnut.com/l/_ENsLoE27flRY


6. The atomic number of an element is 25. 

Write the period to which it belongs.

View Text Solution

7. The atomic number of an element is 25. 

Write the formula of its oxide.

View Text Solution

https://dl.doubtnut.com/l/_TwurjdLo7aS7
https://dl.doubtnut.com/l/_YLQVOFwT7yTs


8. The atomic number of an element is 25. 

Name the type of bond formed when it

combines with a 17th group element.

View Text Solution

9. The atomic number of an element is 25. 

Write the number of s and p electrons present

in it.

View Text Solution

https://dl.doubtnut.com/l/_bIE2j2er4Aae
https://dl.doubtnut.com/l/_eULhWlaaA4ZF
https://dl.doubtnut.com/l/_oAQOc4pTgfp5


10. The atomic number of an element is 25. 

Find the number of unpaired electrons in it.

View Text Solution

11. An element X has three electron shells with

six electrons in the valence shell. Predict the

following about the element: 

Its atomic number

View Text Solution

https://dl.doubtnut.com/l/_oAQOc4pTgfp5
https://dl.doubtnut.com/l/_3IjHzEDIgu43
https://dl.doubtnut.com/l/_CJ2fDb5CR1R9


12. An element X has three electron shells with

six electrons in the valence shell. Predict the

following about the element: 

The period to which it belongs

View Text Solution

13. An element X has three electron shells with

six electrons in the valence shell. Predict the

following about the element: 

The group to which it belongs

View Text Solution

https://dl.doubtnut.com/l/_CJ2fDb5CR1R9
https://dl.doubtnut.com/l/_6KPbQ2VtNjxU


14. An element X has three electron shells with

six electrons in the valence shell. Predict the

following about the element: 

Whether it is a metal or a non-metal

View Text Solution

15. An element X has three electron shells with

six electrons in the valence shell. Predict the

following about the element: 

Formula of its compound with hydrogen

https://dl.doubtnut.com/l/_6KPbQ2VtNjxU
https://dl.doubtnut.com/l/_4XudpbktFER9
https://dl.doubtnut.com/l/_HpsWPV7W4neY


View Text Solution

16. On what basis is potassium (Z = 19) placed

in the 4th period and 1st group?

View Text Solution

17. Study the table given below and answer the

following questions: 

 

https://dl.doubtnut.com/l/_HpsWPV7W4neY
https://dl.doubtnut.com/l/_QZLIcg9KUBlw
https://dl.doubtnut.com/l/_CARrfb7lghZt


Write the atomic number and electronic

configuration of elements P, Q, and R.

View Text Solution

18. Study the table given below and answer the

following questions: 

 

To which groups and periods do P, Q, and R

belong?

View Text Solution

https://dl.doubtnut.com/l/_CARrfb7lghZt
https://dl.doubtnut.com/l/_lbYS8rBvUWWX


19. Study the table given below and answer the

following questions: 

 

Which amongst P, Q, and R is 

(i) I group element (alkali metal) 

(ii)  group element (halogen) 

(iii)  group element (noble gas)

View Text Solution

17th

18th

https://dl.doubtnut.com/l/_lbYS8rBvUWWX
https://dl.doubtnut.com/l/_nusgCNfepg7B
https://dl.doubtnut.com/l/_nZJ0KBXRjnWb


20. There are three elements X, Y and Z. Their

atomic numbers are 11, 18 and 19 respectively.

Amongst X, Y and Z: 

Which elements belong to the same group?

View Text Solution

21. There are three elements X, Y and Z. Their

atomic numbers are 11, 18 and 19 respectively.

Amongst X, Y and Z: 

Which elements belong to the same period?

View Text Solution

https://dl.doubtnut.com/l/_nZJ0KBXRjnWb
https://dl.doubtnut.com/l/_j7b2xkKzrfMh


Periodic Table Ii Mandatory Exercise Exercise Set I

22. There are three elements X, Y and Z. Their

atomic numbers are 11, 18 and 19 respectively.

Amongst X, Y and Z: 

Which element is chemically inactive?

View Text Solution

https://dl.doubtnut.com/l/_j7b2xkKzrfMh
https://dl.doubtnut.com/l/_EqmyScUcpFJX


1. Which one of the following is the smallest in

size?

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

N 3 −

O2 −

F −

Na+

https://dl.doubtnut.com/l/_q8DoZsP0PG0f
https://dl.doubtnut.com/l/_iND90kW4yewS


2. In which group of the periodic table would

you probably find atoms having the highest

ionisation energy?

A. 1

B. 18

C. 14

D. 17

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_iND90kW4yewS
https://dl.doubtnut.com/l/_blbGbfTbA8Ff


3. The first ionisation potential of Na, Mg, Al,

and Si are in the order of

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

Na < Mg > Al < Si

Na > Mg > Al > Si

Na < Mg < Al < Si

Na > Mg > Al < Si

https://dl.doubtnut.com/l/_blbGbfTbA8Ff


4. The last member in each period of the

periodic table is

A. An inert gas element

B. A transition element

C. A halogen

D. An alkali metal

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_bAYvEQSpDXF6
https://dl.doubtnut.com/l/_69h2KQ2vnC3j


5. Fluorine, chlorine, bromine and iodine are

placed in the same group (17) of the modern

periodic table, because

A. they are non-metals

B. they are electronegative

C. their atoms are generally univalent

D. they have 7 electrons in the outermost

shell of their atom.

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_69h2KQ2vnC3j


6. According to the Mendeleev Periodic law of

elements, the variation in properties of

elements is related to their

A. Atomic masses

B. Nuclear masses

C. Atomic numbers

D. Nuclear neutron-proton number

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_69h2KQ2vnC3j
https://dl.doubtnut.com/l/_sGR39ZQtk47T


7. Which block of the periodic table contains

only metals?

A. s-block

B. d-block

C. both A and B

D. p-block

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_sGR39ZQtk47T
https://dl.doubtnut.com/l/_Js0XX0nlTejb


8. Chemical property of Li and Mg similar

because

A. these belong to same group

B. both ionisation potential is same

C. shows diagonal relationship

D. both electron affinity is same

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_Js0XX0nlTejb
https://dl.doubtnut.com/l/_3fGBVNmYjlVZ


9. Whose name is not associated with the

development of Periodic Table?

A. Prout's

B. Newlands

C. Rutherford

D. Lothar Meyer

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_b7SvInJhlHT4
https://dl.doubtnut.com/l/_pa75YrMQbIp8


10. Coinage metals are present in

A. s-block

B. d-block

C. p-block

D. f-block

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_pa75YrMQbIp8


11. Which of the following is the atomic

number of a metal?

A. 32

B. 34

C. 36

D. 38

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_7wPYfgZD5xxk
https://dl.doubtnut.com/l/_R6NX0ojehdiG


12. The basis of keeping the elements in the

group of a modern periodic table is

A. Ionisation potential

B. Electronegativity

C. Electron affinity

D. Number of electrons in the valence shell

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_R6NX0ojehdiG


13. Which of these does not reflect the

periodicity of the elements?

A. Bonding behaviour

B. Electronegativity

C. Ionisation energy

D. Neutron/proton

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_S1G8tLuH3fkv
https://dl.doubtnut.com/l/_rmJATQTk6ZEu


14. The radii of F, , O and  are in the

order of

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

F − O2 −

O2 − > F − > O > F

O2 − > F − > F > O

F − > O2 − > F > O

O2 − > O > F − > F

https://dl.doubtnut.com/l/_rmJATQTk6ZEu


15. Which of the following has the largest ionic

radius?

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

Na+

Ni+

Cs+

Mg+ 2

https://dl.doubtnut.com/l/_mXRIL7XHBdcJ
https://dl.doubtnut.com/l/_zaiqCPGEfU3F


16. The smallest among the following ions is

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

Na+

Mg2 +

Ba2 +

Al3 +

https://dl.doubtnut.com/l/_zaiqCPGEfU3F


17. The ionic radii of  are in

which of the following order

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

Li+ , Na+ , K +

K + > Na+ > Li+

K + > Na+ < Li+

K + < Na+ < Li+

Li+ > Na+ < K +

https://dl.doubtnut.com/l/_2p8ONze8Ia0y
https://dl.doubtnut.com/l/_ZbRklsGqKsut


18. The correct order of radii is

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

N < Be < B

F − < O2 − < N 3 −

Na < Li < K

Fe3 + < Fe2 + < Fe4 +

https://dl.doubtnut.com/l/_ZbRklsGqKsut


19. Among the following options, the sequence

of increasing first ionisation potential will be

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

B < C < N

B > C > N

C < B < N

N > C > B

https://dl.doubtnut.com/l/_f13LvNNG8w4d
https://dl.doubtnut.com/l/_S1TLeMk3RfdR


20. The set representing the correct order of

first ionisation potential is

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

K > Na > Li

Be > Mg > Ca

B > C > N

Ge > Si > C

https://dl.doubtnut.com/l/_S1TLeMk3RfdR


21. Which among the following species has the

highest ionisation potential

A. B

B. C

C. Ne

D. F

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_PkITgtYBkzVR
https://dl.doubtnut.com/l/_k7Tv7OGYTTvX


22. The elements which occupy the peaks of

ionisation energy curve in a period, are

A. Na, K, Rb, Cs

B. Na, Mg, Cl, I

C. Cl, Br, I, F

D. He, Ne, Ar, Kr

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_k7Tv7OGYTTvX


Periodic Table Ii Mandatory Exercise Exercise Set

Ii

1. Give scientific reasons. 

Chloride ion is larger than chlorine atom.

View Text Solution

2. Give scientific reasons. 

The chemical reactivity of elements of group 1

increases downwards, whereas that of

elements of group 17 decreases.

https://dl.doubtnut.com/l/_oalySGGVN8mR
https://dl.doubtnut.com/l/_rsqYLhW0YqbS


View Text Solution

3. The most basic oxide is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

Na2O

Fe2O3

Al2O3

SiO2

https://dl.doubtnut.com/l/_rsqYLhW0YqbS
https://dl.doubtnut.com/l/_E1r3iBAzLUT8


4. The most electronegative element is

A. fluorine

B. iodine

C. chlorine

D. bromine

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_ZmraYZOprQTu


5. Arrange S, P, As in order of increasing

ionisation energy

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

S < P < As

P < S < As

As < S < P

As < P < S

https://dl.doubtnut.com/l/_gyHZHYVJr9Tq
https://dl.doubtnut.com/l/_gMR5kBaZfipB


6. In view of their low ionisation energies the

alkali metals are

A. Weak oxidising agents

B. Strong reducing agents

C. Strong oxidising agents

D. Weak reducing agents

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_gMR5kBaZfipB


7. In which of the following process highest

energy is absorbed

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

Cu → Cu+

Br → Br−

I → I −

Li → Li+

https://dl.doubtnut.com/l/_O9NWQUqJHjNZ
https://dl.doubtnut.com/l/_lagaSu3oHfIq


8. Which one of the following is an incorrect

statement?

A. The ionisation potential of nitrogen is

greater than that of oxygen.

B. The electron affinity of fluorine is greater

than that of chlorine.

C. The ionisation potential of beryllium is

greater than that of boron.

D. The electronegativity of fluorine is

greater than that of chlorine.

https://dl.doubtnut.com/l/_lagaSu3oHfIq


Answer: B

View Text Solution

9. Which of the following elements will have

the highest electron affinity?

A. Nitrogen

B. Fluorine

C. Chlorine

D. Phosphorus

https://dl.doubtnut.com/l/_lagaSu3oHfIq
https://dl.doubtnut.com/l/_JvCWK48NeHeA


Answer: C

View Text Solution

10. The electron affinity values for the

halogens show the following trend

A. 

B. 

C. 

D. 

F < Cl > Br > I

F < Cl < Br < I

F > Cl > Br > I

F < Cl > Br < I

https://dl.doubtnut.com/l/_JvCWK48NeHeA
https://dl.doubtnut.com/l/_o8kaKBMpZPga


Answer: A

View Text Solution

11. Two elements whose electronegativities are

1.2 and 3.0 the bond formed between them

would be

A. Ionic

B. Covalent

C. Coordinate

D. Metallic

https://dl.doubtnut.com/l/_o8kaKBMpZPga
https://dl.doubtnut.com/l/_pYXWgMCZfYv9


Answer: A

View Text Solution

12. Increasing order of electronegativity is

A. 

B. 

C. 

D. 

Answer: A

Bi < P < S < Cl

P < Bi < S < Cl

S < Bi < P < Cl

Cl < S < Bi < P

https://dl.doubtnut.com/l/_pYXWgMCZfYv9
https://dl.doubtnut.com/l/_x16zbFiT93NV


View Text Solution

13. Going from fluorine to chlorine, bromine

and iodine, the electronegativity

A. Increases

B. Decreases

C. First decreases then increases

D. Changes randomly

Answer: B

https://dl.doubtnut.com/l/_x16zbFiT93NV
https://dl.doubtnut.com/l/_LtMGvquj9ARM


View Text Solution

14. The most basic among these hydroxides, is

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

Be(OH)2

Mg(OH)2

Ca(OH)2

Ba(OH)2

https://dl.doubtnut.com/l/_LtMGvquj9ARM
https://dl.doubtnut.com/l/_rl5347L0Q2CU
https://dl.doubtnut.com/l/_URP08XUHd0o8


15. Which of the following aqueous acid is

most acidic?

A. HCI

B. HF

C. HI

D. HBr

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_URP08XUHd0o8
https://dl.doubtnut.com/l/_n4izkQUmPYse


16. The correct order of the increasing ionic

character is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

BeCl2 < MgCI2 < CaCI2 < BaCI2

BeCI2 < MgCI2 < BaCI2 > CaCl2

BeCI2 < BaCI2 < MgCl2 < CaCI2

BaCI2 < CaCI2 < MgCl2 < BaCI2

https://dl.doubtnut.com/l/_n4izkQUmPYse


17. Which of the following sequence correctly

represents the decreasing acid nature of

oxides?

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

Li2O > BeO > B2O3 > CO2 > N2O3

N2O3 > CO2 > B2O3 > BeO > Li2O

CO2 > N2O3 > B2O3 > BeO > Li2O

B2O3 > CO2 > N2O3 > Li2O > BeO

https://dl.doubtnut.com/l/_zVFVWqEGoiJw


18. An element X which occurs in the first short

period has an outer electronic structure .

What are the formula and acid-base character

of its oxides

A. , basic

B. , Basic

C. , Amphoteric

D. , acidic

Answer: C

View Text Solution

s2p1

XO3

X2O3

X2O3

XO2

https://dl.doubtnut.com/l/_LrxKbf6RAukn


19. Which one of the following should be most

stable?

A. 

B. 

C. H

D. 

Answer: D

View Text Solution

He2 +

H +

H −

https://dl.doubtnut.com/l/_LrxKbf6RAukn
https://dl.doubtnut.com/l/_4W53pMB2k35l


20. Which of the following element does not

occur in liquid form?

A. Hg

B. Li

C. Ga

D. Br

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_4W53pMB2k35l
https://dl.doubtnut.com/l/_msxzVfIzOssp


21. Which of the following set has the

strongest tendency to form anions?

A. Ga, In and Te

B. Na, Mg and Al

C. N, O and F

D. V, Cr and Mn

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_uKwYEumMFEtD
https://dl.doubtnut.com/l/_zfp0YTpsKHvZ


22. The halogen that most easily reduced is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

F2

CI2

Br2

I2

https://dl.doubtnut.com/l/_zfp0YTpsKHvZ


23. On going left to right in a period, atomic

volumes

A. Decrease

B. Increase

C. Remain same

D. None of these of correct

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_Sc79ag100tvf
https://dl.doubtnut.com/l/_6PTDvT8M8Ajg


24. Which of the following elements is found

in native state?

A. Al

B. Au

C. Cu

D. Na

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_6PTDvT8M8Ajg


Periodic Table Ii Consolidated Exercise

Periodic Table Ii Consolidated Exercise Multiple

Choice Questions With One Or More Than One

Correct Answer

1. Match the following: 

View Text Solution

https://dl.doubtnut.com/l/_Ts40ebx89io7


1. The factors that influence the ionisation

energies are

A. the size of the atom

B. the charge on the nucleus

C. the effectiveness of the inner electrons

to screen the nuclear charge

D. the atomic mass

Answer: A::B::C::D

View Text Solution

https://dl.doubtnut.com/l/_zpPDDhLwF7K1


2. Which of the following properties, in

general, decrease on moving from left to right

in a period?

A. Ionisation energy

B. Electropositive character

C. Metallic character

D. Electron affinity

Answer: A::B::C::D

https://dl.doubtnut.com/l/_zpPDDhLwF7K1
https://dl.doubtnut.com/l/_mA6deg8HWdC3


Periodic Table Ii Challenging Exercise

View Text Solution

1. Electron affinities of two elements A and B

are given as follows. 

A = 3.79 eV B = 3.56 eV 

Which of them will ionize more easily and

why?

View Text Solution

https://dl.doubtnut.com/l/_mA6deg8HWdC3
https://dl.doubtnut.com/l/_5F4PZVYewdyM


2. Why must a zinc atom absorb more energy

than a calcium atom for a 4s electron to get

ionised?

View Text Solution

3. Along the period, ionisation energy

increases, but the first ionisation energy of Be

is more than that of boron, and that of

nitrogen is more than that of oxygen. Give

reason.

https://dl.doubtnut.com/l/_7s0ONC11SZmp
https://dl.doubtnut.com/l/_z2Wu18e501bA


View Text Solution

4. Why is the second ionisation energy for a

given element always greater than the first

ionisation energy?

View Text Solution

5. Based on general trends, the electron

affinity of fluorine would be expected to be

greater than that of chlorine, however, the

https://dl.doubtnut.com/l/_z2Wu18e501bA
https://dl.doubtnut.com/l/_Plp0cY4zMjlv
https://dl.doubtnut.com/l/_xQUDI22dY6xF


Periodic Table Ii Olympiad And Ntse Level

Exercises

value is less and is similar to the value of

bromine. Explain.

View Text Solution

1. Newlands law of octave applies to which of

the following set of elements?

A. Be, Mg, Ca

B. As, K, Ca

https://dl.doubtnut.com/l/_xQUDI22dY6xF
https://dl.doubtnut.com/l/_qQen4wwd11nW


C. B,N,C

D. None of these

Answer: A

View Text Solution

2. The elements of group 1, 2, 13, 14, 15, 16, 17, 18

are collectively called

A. Noble elements

B. Typical elements

https://dl.doubtnut.com/l/_qQen4wwd11nW
https://dl.doubtnut.com/l/_pPEgGtpoNHgN


C. Transition elements

D. Representative elements

Answer: D

View Text Solution

3. The 3rd period of the periodic table

contains

A. 8 elements

B. 32 elements

https://dl.doubtnut.com/l/_pPEgGtpoNHgN
https://dl.doubtnut.com/l/_C2VOAGPDn2vO


C. 3 elements

D. 18 elements

Answer: A

View Text Solution

4. The correct order of the size of C, N, P and S

is

A. 

B. 

N < S < P < S

C < N < P < S

https://dl.doubtnut.com/l/_C2VOAGPDn2vO
https://dl.doubtnut.com/l/_Ezv1KDvAWeUQ


C. 

D. 

Answer: C

View Text Solution

N < C < S < P

C < N < S < P

5. Anything that influences the valence

electrons will affect the chemistry of the

element. Which one of the following factors

does not affect the valence shell?

https://dl.doubtnut.com/l/_Ezv1KDvAWeUQ
https://dl.doubtnut.com/l/_BTMwhbn4DXeu


A. Valence prinicipal quantum number (n)

B. Nuclear charge (Z)

C. Nuclear mass

D. Number of core electrons

Answer: C

View Text Solution

6. Among  and  the

covalent bond character follows the order

LiCl, BeCl2, BCl3 CCl4

https://dl.doubtnut.com/l/_BTMwhbn4DXeu
https://dl.doubtnut.com/l/_4RBeJeAwuRke


A. 

B. 

C. 

D. 

Answer: B

View Text Solution

LiCl > BeCl3 > BCl3 > CCl4

LiCl < BeCl2 < BCl3 < CCl4

LiCl > BeCl2 > CCl4 > BCl3

BeCl2 > LiCl > BCl3 > CCl4

7. The correct order of acidic strength of the

following is

https://dl.doubtnut.com/l/_4RBeJeAwuRke
https://dl.doubtnut.com/l/_t2kN4ywdtxP8


A. 

B. 

C. 

D. 

Answer: A

View Text Solution

SO2 > P2O3 > SiO2 > Al2O3

P2O3 > SO2 > SiO2 > Al2O3

P2O3 > Al2O3 > SO2 > SiO3

Al2O3 > SiO2 > P2O3 > SO2

8. Which of the oxides is not a mixed oxide?

A. Co(Al2O2)2

https://dl.doubtnut.com/l/_t2kN4ywdtxP8
https://dl.doubtnut.com/l/_JpyXoXyK5ZQJ


B. 

C. 

D. 

Answer: D

View Text Solution

Mn3O4

Pb3O4

C3O2

https://dl.doubtnut.com/l/_JpyXoXyK5ZQJ

